Problem #1 

	
	The summary amounts below appear in the Income Statement and Balance Sheet columns of a company's December 31 work sheet. Prepare the necessary closing entries.

[image: image1.wmf]Income Statement

Balance Sheet

Debit

Credit

Debit

Credit

Assets

................................

..................

12,000

Liabilities

................................

............

3,000

Kate Smith, Capital

.............................

7,500

Kate Smith, Withdrawals

.....................

1,500

Revenue

................................

..............

19,500

Salaries expense

................................

..

11,250

Other operating expenses

.....................

  5,250

_____

_____

_____

Totals

................................

..................

16,500

19,500

13,500

10,500

Net income

................................

..........

  3,000

_____

_____

3,000

Totals

................................

..................

19,500

19,500

13,500

13,500




Problem #2 

	12.
	Roller Blade Company uses the perpetual inventory system and had the following transactions during October:

[image: image2.wmf]October 6:

Purchased $4,000 of inventory.  The seller’s credit terms are 2/10,

n/30.

October 8:

Returned $200 worth of defective units and received full credit.

October 15:

Paid the amount due, less the returned items.

 

Prepare journal entries to record each of the preceding transactions. 


Problem #3 

	
	A company made the following merchandise purchases and sales during the month of May:

[image: image3.wmf]May 1

purchased

380 units at

$15 each

May 5

purchased

270 units at

$17 each

May 10

sold

400 units at

$50 each

May 20

purchased

300 units at

$22 each

May 25

sold

400 units at

$50 each

 

There was no beginning inventory.  If the company uses the FIFO periodic inventory method, what would be the cost of the ending inventory? 


Problem  SHOW ALL WORK!!!!!

	
	A company made the following merchandise purchases and sales during the month of May: 

 [image: image4.wmf] 

There was no beginning inventory. If the company uses the weighted-average inventory valuation method and the perpetual inventory system, what would be the cost of its ending inventory? 
 

 
 
 


